Bill the Ball Bearing Man	


Bill runs a ball bearing factory. He has devised a way to save money by making his ball bearings hollow. Clearly if the ball bearings are not solid, Bill’s material costs go down.


However, if the walls of the ball bearings are too thin, they will fail in use and Bill will lose business. In particular, he will have to reimburse his customers for the cost of the failed ball bearings.


You have been hired as an industrial consultant by Bill to advise him on how to take advantage of his new method of manufacturing ball bearings. Study this situation and write a report to Bill advising him on this matter. You may assume that the likelihood of failure of a ball bearing varies linearly with the radius of the cavity inside the ball bearing.
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